CRYPTOQUIP
LASBRO RK ZSYMCQX JYFL CQ Y

JYN YZ MRE QRSCJA MREG
KYGA JFCLNCQX ATAG BCXBAG:

LCQO RTAG LASAG.

Yesterday’s Cryptoquip: WHAT COULD ONE
CALL A PERIOD OF TIME WHEN SOMEONE
ENDURES A LOT OF STRESS? A TENSION SPAN.

Today’s Cryptoquip Clue: X equals G
The Cryptoquip is a substitution cipher in which one letter stands for
another. If you think that X equals O, it will equal O throughout the puzzle.
Single letters, short words and words using an apostrophe give you clues

to locating vowels. Solution is by trial and error.
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